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Power saving pull-up resistance helps:

1) Reduce current consumption in disable mode.

2) Avoid incorrect operation, reducing the susceptibility to the effects of noise on INHN.
These two functions can be made mutually compatible.

In disable mode (INHN = “Low”), the resistance is large (several MQ) suppressing the current in the pull-up resistor to the order of uA,
reducing the current consumption (Figure 1-1).

In enable mode (INHN = “Open” or “High”), transistor Tr. turns ON and the pull-up resistance decreases (approximately 100k€2).
Consequently, the IC is less susceptible to the effects of noise, helping to avoid problems such as the output stopping suddenly (Figure 1-2).
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Figure 1-1. Power saving pull-up resistance equivalent circuit (disable mode)
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INHN = “OPEN” INHN = “High”
Even when INHN is open circuit, the input has low Vin =V
susceptibility to induced noise, avoiding incorrect
circuit operation.
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Figure 1-2. Power saving pull-up resistance equivalent circuit (enable mode)
ND—E—TTI7 v TN EMOEE (1 =— TV

SEIKO NPC CORPORATION



NPC

Figure 2 shows the pull-up resistance switching between disable mode and enable mode.
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INHN operation is unstable.
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The following operating conditions are recommended for enable and disable modes.
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® Disable mode : V=0V
® Enable mode : V\y = Vpp, or “OPEN”

Figure 2. INHN input voltage (V\y) vs. Pull-up resistance (Rpy) typical characteristics
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Note. The operation near the disable mode and enable mode switching voltage threshold can make INHN operation unstable and
should be avoided. Also note that if a voltage lower than VSS or a voltage higher than VDD is applied to INHN, the protection
diodes start to conduct, resulting in very high current flow. This can result in device breakdown.
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